ERCOT Operations Bulletin 316

ERCOT has revised the Frequency Control Desk section of the Operating Procedure Manual.

Changes include updating section 2.6.11, addition to first NOTE, revise steps 1 and 5, new steps 2,3,6-9
	2.6.11      Use of LAARs to Arrest a Reportable Low Frequency Disturbance

	Step #
	Procedural Steps

	PURPOSE:
	To meet NERC Recovery Criteria after a potential NERC Reportable DCS Event:

	NOTES:
	NERC Recovery Criteria
Within 15 minutes ERCOT shall:
· Return system frequency to scheduled frequency if it was greater than or equal to scheduled frequency prior to the disturbance, OR
· Return system frequency to its pre-disturbance value if it is was less than scheduled frequency prior the disturbance.
A potential NERC Reportable DCS Event
· Single contingencies – one event characterized by the sudden, unanticipated loss of generation greater than or equal to 1000 MWs , OR

· Multiple contingencies – the loss of multiple units within one minute or less if the combined magnitude exceeds 1000 MWs. 

It is anticipated that the deployment of LAARs will occur in stages.

LAARs UFRs are set at 59.7 Hz.

If ERCOT declares an “Emergency Notice”, the text message may be sent as time permits so as not to impede system operations.
In order to control frequency, be prepared to issue a “Fleet Down” VDI once the system has recovered to its’ scheduled/pre-disturbance frequency value.

	1
	When a low frequency disturbance occurs due to a loss of generation, DETERMINE immediately by calculating the loss of generation if the event is potentially a NERC Reportable DCS Event. 

	2
	If a low frequency disturbance occurs, AND there is no indication of a generation loss, assume that a potential DCS event has occurred and SCADA communications has been lost
· Determine the magnitude of the event by using the “ERCOT Interconnection Control Error” tag on the “ERCOT & QSE Summary Page” in PI. 
· Take care to calculate the entire generation loss from the PI tag, not just the difference between zero and the lowest number.

Example:

If the “ERCOT Interconnection Control Error” pre-disturbance value is + 150 MWs, and post disturbance value is -900 MWs, then the total generation loss is 1050 MWs. This constitutes a NERC Reportable DCS Event.

	3
	If the “ERCOT Interconnection Control Error” post disturbance value is greater than 950 MWs, implement Step 5.

	
	· 

	4
	IF the event is not a NERC Reportable DCS Event, proceed with normal operation.

	5
	IF the Frequency is above 59.7 Hz, 

· Immediately issue a VDI using the hotline instructing QSEs to deploy ALL un-deployed LAARs and hydro generation that are bid to supply Responsive Reserve 
· Mandatory 
Script: 
“VDI # ____________ ERCOT has experienced a potential DCS Event and all QSEs are required to deploy any un-deployed LAARs and hydro supplying Responsive Reserve.”

Print Hotline Log, ensure printout has date and time, and forward to Shift Supervisor.

	6
	Complete the VDI form (Appendix 3) and process.

· Issued a Verbal Dispatch Instruction to – write in “All QSEs”

· Receiving entity’s operator – write in “All QSEs”

The instruction was as follows:  “All QSEs are required to deploy any un-deployed LAARs and hydro supplying Responsive Reserve due to a potential DCS event.”

	7
	REQUEST that the Transmission & Security Desk notify the Transmission Operators that LAARs are being deployed due to NERC DCS Event.   

	NOTE:
	verify all deployed RRS from resources is recalled prior to restoring LAARs providing RRS.


	8
	Restore LAARs incrementally as system conditions permit. 

	9
	REQUEST that the Transmission & Security Desk notify the Transmission Operators that LAARs are being restored.


A copy of the procedure is available at
http://www.ercot.com/mktrules/guides/procedures/index.html
